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10. (10 pts) When 1-methylcyclohexene undergoes hydration in D2O, the 
product is a mixture of diastereomers; the hydration is thus not a 
stereoselective reactions: 

 
(a) Show why the accepted mechanism of this reaction is consistent with 
these stereochemical results. 

 
 (b) Why must D2O rather than H2O be used to investigate the 
stereoselectivity of this addition reaction?   

The use of D2O allows us to differentiate the protons of the solvent from 
those of the starting materials.  


